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Oxygen (O2)





Ultraviolet Light





Most of the oxygen in the stratosphere comes in the form of a binary molecule. The bonds that hold the 2 oxygen atoms together absorb ultraviolet light.





The oxygen molecules are split into 2 separate, highly energized atoms.





Energized elemental oxygen





The highly-energized, elemental oxygen atoms combine with an another oxygen molecule to form ozone and heat is released.





Ozone is more reactive than oxygen.  Its bonds absorb ultraviolet light even more easily and the 3rd oxygen atom is split off.





The energized oxygen atom and the binary oxygen molecule continue the cycle.




















The chlorine and oxygen compound (chlorine monoxide - ClO) is not significantly affected by ultraviolet light, so it effectively removes an oxygen atom from the stratosphere.  The more oxygen that gets pulled out of the ozone cycle, the less oxygen there is available to form ozone, and so there will be less ozone.





Ultraviolet light is also absorbed in the bonds that hold a CFC together, and a highly reactive chlorine atom is broken free.
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Ultraviolet Light





That highly reactive chlorine atom from a CFC reacts with the reactive ozone molecule.





Chlorine





One oxygen molecule (O2) is returned to the ozone cycle. 








